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Balance of Payments

1. How would the following transactions be categorized in the U.S. balance of payments accounts? Note
whether they would be entered in the current account or the financial account.

a. A French importer buys a case of California wine for $500

Coteft

b. Boeing, a U.S. based company, sells a newly built airplane to China.
Coeat

c. An American who works for a French company deposits her paycheck, dtawn from a Paris bank,
into her San Francisco bank. C\.)((ﬁn'\'

d. Chinese investors buy stock in Boeing from Americans. ?w\g Ao\ \LQQ ctal

e. An American buys a bond from a Japanese company for $10,000. ‘GPIW\C-\O»\

f. A Chinese company buys an airplane from American airlines and ships it to China. C,U("(‘Q’\J,.

g An American charity sends $100,000 to Africa to help local residents to buy food after a harvest

shortfall. QQK{Q‘:&

2. For each of the following scenarios, note whether the transaction will appear in the cutrent or financial
account and whether it will be a credit or a debit.
a. AUS. cntrepre ur nvests $50 million to develop a theme park in Malaysia

{\(}\r\(}(«\ C )
b. A Chinese company sells $1 billion worth of berets to the U.S. army.

cou(ent L15)
c. BMW pays $1 million to a U.S. shipper for transporting cars from Germany to the U.S.
Cotat (c

d. A U.S. ice rink magnate buys stock in Chilean ice-rink chain
\HRONLA\
e. French tourists spend $3 million in the U.S.; U.S. tourists spend $§5 million in France.

Coeent (V)

f. A Brazilian investor buys 5 U.S. treasury bonds.
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3. In the economy of the nation of Buon Amict during 2014, exports equaled §400 billion of goods and (/“' g
$300 billion of services, imports equaled $500 billion of goods and $350 billion of services. The rest of A
the world purchased $250 billion of Buon Amici assets.

a. What was the merchandise trade balance fot Buon Amici? N
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b. What was the E"alange of payments on tl;e curren%cco?mt for Buon Amici?

700 B - ¥ &30 Bhon =~ V50 Bhae

¢. What was the balance of payments on the financial account?

@ 3150 Bln (st conah cmqerﬂ (-1s 3)
d. What was the value of Buon Amici’s purchase of assets from the rest of the world?
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4. In the economy of Giannoni during 2014, total purchase of assets from the rest of the wotrld equaled

$300 billion, purchase of Gianonni’s assets by the rest of the world equaled $400 billion, and Gianonni’s
expotted goods and services equaled $350 billion. (

a. What was Giannonf’s balance of payments on the financial account?

+ 30 o\ln (doo -3507

b. What was its balance of payments on the current account?

- 120 B\

c.  What was the value of its imports?
Ucported. 1350 Blion>Mast nave impocked 450 bihey Yo
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1. For each of the following situations, explain the effect of the event on the value of the U.S. dollar in relation to the Mexican
peso. Draw a supply and demand graph to illustrate each situation.

a. Americans increase their demand for Mexican tomatoes.
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b. Inflation in Mexico rises at a higher rate than in the U.S.
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c. Americans increase their investments in Mexico because they feel the Mexican economy is strong.

E‘QU)O . 9{33[ §

k ?CSO ,]f
AAND, ﬁ g
b A—
& (sesor) e

d. Interest rates tise in the U.S. and have become relatively higher than Mexican interest rates
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e. Mexico becomes a much more popular tourist destination for Americans. ’%
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.Costof. o Costof

Foreign Currency - U.S. Dellarin ..
in U.S. Dollars Foreign Currency ._
(U.S. dollars / foreign currency)  (foreign currency / U.S. dollars)
May Aug. May Aug.
British pound .14 1.8 0.71 0.56
Canadian dollar 0.64 0.63 1.5625 1.5873
European euro 0.87 0.91 1.149 1.099
Swedish krona 0.094 0.093 10.638 10.753"
Japdhese yen " 0.0083 0.0090 120482 - .., 1LHY
' Mexican peso 0.1101 0.1502 " 9.083 6.658

—— -

1 Usmg the data, calculate the cost of the followmg products in U S do]lars

_ _ May Aug.
1. A dinner for two that costs 500 Mexican pesos 5% 0% 7510
2. A hotel room that costs 30,000'Japaneéé’ yén 244 J70
3. A BMW that costs 85,000 euros in Germany 1%,450 1" %50
4. A pound of Swedish meatballs that costs 30 krona 2.8 a9
5. A pair of pants that costs 72 pounds in London j00. & - 129.4
{6 Aleamerjabketmatoosis13000madlan dollars | l_,lsz_ ‘ 1‘ 134

2 Calculate how much foreign tounsts would have to pay in theu' own currency for
an American meal that costs $60 00.

TMay- . . Aug,
British pound ol | 33.6 | ¥
Canadiandolar [ 93.1§ qs.24 . | ¢
European euro (8. 94 0s. ] |[*
swedishkona .| 636.2¢ | G45s | T
Japanese yen 1,21%.90 | b, Lbb- el | %
Mexicanpeso . | 544.38 | 3944 [ ¢
or deprecmte against the following

3. Did the value of the dollar appreciate
q currencies between May and August?

Appreciate _ Depreciate
British podnd i A |
| canadiandollar | DA

European eurd
Syedishkiona | K

Japanese yen
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1. The table below shows the supply and demand schedules for plywood in the
United States. Assume that the world price and the domestic price is $500

per ton.
Price - LS. quantity U.S, quantity
(dollarf per ton supplied demanded
of plywood)  (tons per month) (tons per month)
Loos 600 - 1,400
750 500 ’ {,600
— 500 300 . 1,800
250 100 2,000
a. Assuming that there are no tariffs or quotas in place, how much

plywood is consumed in the United States? How much is
produced in the United States and how much is produced in

Canada? \&0‘0 +IM S Cm SUMC‘Q

36D s Producd w s
100 TS prw.ut&l wm Canada

b. Suppose the United States imposes a tariff of $250 a ton on all
plywood imported into the country. What is the price of
plywood in the United States? How much plywood is
consumed in America? How much of that amount is produced
in America and how much is produced in Canada?

- 1600 s (mSumed
= S0D s produced wm US
- 10D fms produced w Canade

2. Suppose that a foreign car manufacturer admits that its production standards
at its facilities in its home country were lax, leading to faulty accelerator
pedals. What policies should the United States impose as a result of this
admission? What are the trade consequences from this policy?
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3. The graph below shows the supply and demand for memory chips in the
United States. The United States is a large producer of these chips, so the
supply curve shows the sum of the supply by domestic and foreign
producers. :

Price {dollars per memory chip}
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-Juantity {millions of memory chips per month)

a. Ifthere are no tariffs or other protectionist policies in place, what is

the price of a memory chip and what is the quantity of memory chips
consumed in the United States?

102 pace /3IMM dhups

b. Ifthe United States imposes a tariff on chips imported into the United
States so that the supply decreases by 2 million chips per month at
every price, show the effect of this tariff on the graph. What is the

effect on the price of a memory chip and the quantity consumed in the
United States?
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4.

The graph below shows the supply and demand for sugar in the United
States.
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* Assume the world price of sugar is $.10 a pound, What is the quantity

consumed in the United States, the quantity produced in the United
States and the quantity imported?

emsumed © SO mllion lhs.
Poduce) S 10 millin s,
“"\Pﬂ\{fﬁ! 4o mllien lbs.

Suppose the government imposes a tariff of $.05 on sugar. After the

tariff, what is the quantity consumed in the United States, the quantity
produced in the United States and the guantity imported?

nsumed : 4o ml/lm
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